wolaia 52

l:J'J |_\LT =il a =io « ».‘

ogd 0o $ixl

(47) dxiso ' rogd o Sixil

1100 81 ] capidl kel gl ol
15610 -4390 -» 5600 - 4400 = 1200

213219 -1133 -» 3200 - 1100 = 2100
36947 - 1459 - 6900 - 1500 = 5400

£ 1000 81 Wl eyl zodall @l as]
416512 - 1908 - 7000 - 2000 = 5000

518123 - 3099 - 8000 - 3000 = 5000
6/9411 - 5633 - 9000 - 6000 = 3000

7 b wl uads asew wozgl ol aiusT 4144 - 6501 g LoS
Lil> pao.

6501 — 6000
_4144— —-4000
2000

axzoly g J> (8 lasdl caiusT

o7 lgio 1/2



wilall aileill 4 sia ?.% U"o'e-g U0

ez 1000 0,81 Gl e ,aill 6501 sasdl uais 8 dvoww wllas|
3000 = 4000 - 7000 muuall Jxllg 6000 Ludg 7000 I o i,

> lgio 2/2



